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label the sides of the
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round a point

interior angle










on a calculator Increasing
390/0 Of 82 Change to a Increase £60 by 12%
039 x 82 d“‘"’::“‘;"d 12% of 60 = 0.12 x 60 = £7.20
o muiT
New amount = £60 + £7.20
= £67.20°>

fraigion to% ( : ADD
lﬁ_fz}i - 75% s ag;es decreasing

2 100
&55' OR decrease £60 by 12%

15 = 20 x 100 = 75% % 12% of 60 = 0.12 x 60 = £7.20
New amount = £60 - £7.20

without a calculator = £52.

50% - half 10% - divide by 10| | SUBTRACT

25% - half and half 5% - half 10%

75% - 50% + 25% 20% - double 10%
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» Factorising (x+3)x+ 420 difficltl 3.7 - 3x - &x+ 2
e Formula RATRRCAE Sx(x - 1) - 2(x -1)
_ 3x - 2)(x - 1)
» Completing the square L
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The angle ina Angles at the

B They must come
from the same arc.

circumference
are equal.

semi-circle is 90°

Look out for a
diameter.

They must come

The angle at the centre
from the same arc.

is twice the angle at the
circumference.

Cyclic
Quadrilateral

CirCle Theorems

From any point you can
only draw two tangents...

Opposite angles
add up to 180°

The angle between
a tangent and a
radius is 90"

Alternate Segment

Theorem.

Look out
for radii.

[ and theyddubl




rectangle

height

base

Area = base x height

height

base

parallelogram
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Area = base x height

AREA

trapezium
Area=(a+b)xh
2

height

Always use the
perpendiCular

height

a
>

N

a Tr'iangle is half the area of a rectangle

‘ Area = base x height

2

base

circle

radius

Area = Tir’




y=fx+a

plus a - up

minus a - down

y = -fx

reflection
In X-axis

B

R

y = f(x +a)

stretch in

y-axis

plus a - left

minus a - right

N

\_ /| scale
. factor k

a opposite to what u
might think!

y = f(-x)

reflection

In y-axis

ey

y = f(Kx)

stretch in

X-axis

scale factor 1/k




Translation

Describe with
T a vector
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[3 <= squares right

4 | e= squares up

Rotation

you need:

e the direction

/ To describe a rofaﬁM

» the angle of rotation

e the coordinates of |

&

Rotation of 90°,
clockwise, abot

anti-

clockwise

" clockwise
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Describe by naming
the line of symmetry |

| o .
he centre | I\ ' |
] u - | \I -
r— . . Centre of rotation
Reflection Transformations
1 [ww«rww
o Centre "'HIGHERMY,! _

Enlargement, \
Fscale factor
centre (0,7

Enlargement

Always use TRACING
PAPER for translation,
reflection & rotation.

To describe an enlargement
you need:
e the scale factor

e coordinates of the centre

s
| L~

Enlargement of
scale factor -2




Prisms have a uniform

//////// cross-section

‘Jolume, =

x

a cone is one third
of a cylinder

a frustrum is a pyramid
with the top cut off.
You need to find
the volume of both [ ™
pyramids.
Often you need to use similar
shapes in frustrum problems.




